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Explain the following terms :—

{(a) Corn Economy

(b) Full Employment Budget Surplus
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Define the money multiplier. Explain how the creation
of credit by commercial banks can have a multiplier

effect on the money supply in the economy.
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer any five questions. Al questions are divided
into sections, A and B. Attempt any five questions
out of 7 questions from each of the sections,
Section A has short answer questions and each
carries 5 marks whereas Section B contains long
answer questions and each carries 10 marks.

3. Answers may be written cither in English or Hindi;
but the same medium should be used throughout the

paper,
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SECTION-A (@S 1)

What do you understand by macroeconomic policies?

What are their objectives in general?
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Prove that:— Spvt + Sgovt — CA=1

(Where; Spvt, Sgovt, CA, and I are Private saving,
Government saving, Current account and investment

respectively)

Explain the economic interpretation of this identity.
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(a) Would you expect any change in the equilibrium
income to rise or fall as a result of this change?
If so, why? Check your answer with the following
numerical example; suppose that, initially, C = 0.8,
t=0.25 and Y,=600. Now let us assume that
AG =10 and ATR=-10.

(b) Find the change in equilibrium income, A Y
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C=08, t=025 g0 Y, = 600 w0 AG =10 o=
ATR =-10.
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An increase in marginal propensity to import reduces
the equilibrium level of income in an open economy
while an increase in autonomous export increases
the equilibrium income. Explain with the help of

graphs.
P.T.O.
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Explain the multiplier concepts in he Presence of
income taxes.
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SECTION-B (@S )
\
1. What are the major macroeconomic issues? Explain.
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2. Explain the steps involved 11 the estimation ©

by income approach.
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4. Suppose that government de
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